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( Intermediate Macroeconomics—II )
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Full Marks : 80
Time: 3 hours:

The figures in the mdrgin indicate full marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

woTs fRACa R e webi et e fia -

(a) Mention one assumption of Harrod-
Domar growth model.

RC-TUIR f[Ir wifdq Wbl SSqR W
0|

(b) Name one neo-classical growth model.

F-AFPre Rt oifE «b 7 for |
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(c)

()

(9)

(h)

()

(2)

What is meant by technological
progress?
ofgfesre BRfY WG R T 7

Define average propensity to consume.

T (ST 4TS S A |

Who  introduced - ‘the life-cycle
hypothesis?

-5 FNIC0! (P BB e ?

Mention one assumption of permanent
income hypothesis.

TR S e 9O Sy Teay 97 |

Rational expectation model is related to
Robert Hall/Friedman.

( Choose the correct answer )

G e SIfRe! M0 2o/ Rocye ae
GYS | "
(% Teqch! AR Bfersar )

What is investment?

fafcat 19 2

What is liquidity preference?
o AfS fF 2 |
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(38)

() What is meant by fiscal policy?
ey TS e R 3am 2

(k) What is Ricardian equivalence?

Ry st 9

() What is meant by active monetary
policy?

ey ga e e

(m) Who are the classicists?

RIS @ I 2

(n) Did Keynes believe in full employment
equilibrium? '

Wqﬁmﬂ—ﬁwﬁmw

(o) Name one new Keynesian economist.

G 73] (SO TSR AW fergt |

2. Answer any five from the ~ following
questions : 2x5=10

o 2Peadd R e Ao Tew i

(a) What is the golden rule?
cTerar fas 3 2
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(4)

What is meant by endogenous growth?

(b)
wesfe R g & @ 7

(c) ‘Mention two differences between
Harrod-Domar model and Solow model.
oo T Wi S v SRA A 7ol
=Ty Tewy 90

(d) Why marginal Apropentsity to consume
cannot be greater than one?
afe coel gre R gqgete @R R
TSI ?

{e) What is random walk of consumption
expenditure? '
oI AT MRS (IS 2

(/ Mention two monetary policy ‘targets.
a1 R 151 77w e 3947 |

(9) Mention two differences between
classical and Keynesian thoughts.
TENS AE @O SrymER

RIR

TRy 791 | FUR

(h) Mention two features of classical
macroeconomic thought.
HFIS T ©pg

S 01 G2 g 0
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(5)

3. Answc::r any four from the following
questions : - 5%4=20

(a) What are the two effects of investment
according to Harrod-Domar model?
Explain.

@@-ﬁmwwmﬁqﬁmﬁs
&2 0 90 |

(b) Explain Keynes’ psychological law of
consumptlon

WﬁﬂWWWW!

(c) Explain the elements of endogenous
growth.

e RPR SRR T 4 |

(d) What are the limitations of Harrod-
Domar model? Explain.

EA'G-TTR e HAEEROPTR fo f7 T

41|
(e) Explain the concept of inventory
investment.
1o RFCEAE ARG 0 9
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(6)

() Explain the time consistency problem of
monetary policy.

Y NEA SA-SAESTA SO WL F4A |

(g) Distinguish between external and
internal government debt.

Www—rﬁqwﬁwﬂwmw
ICREETIR

(h) Explain the main features of new
classical macroeconomic thought.

Wﬂ"mﬂ—w@zﬁ—ﬁws{ﬂm
I 9 |

4. Answer any four from the foiloWing
questions : 10x4=40

A ANCARE R @Al vifoR Tey iy

(a) Critically discuss the Solow model of
economic growth.

wAAST R o' RS A
AL 9 |

(b) Discuss Fisher’s theory of optimal 1nter~
temporal choice,

ﬁ*mmw@zmﬁaswwmw
390
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(7)

(c) Discuss th
e Keynesian const i
fancton. sumption

@A (19 T S 4 |

(d) Critically discuss the  life-cycle
hypothesis. |
- G -5F Eﬂﬂl‘lwl SICEATDA W@ Al
|

(e) Is permanent income hypothesis an
improvement ovVer life-cycle hypothes1s’9

- Discuss.

f@WWW—WﬂWW

() Discuss the determinants of pusiness

fixed investment.

es of demand for

(g9 What are the motive
Keynes? Discuss.

money according to
s o LA ez [ 2
iz EIR

(h) Discuss the objectives of monetary

policy.
prafeiichl TR S 9
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(8)

() Discuss the main features of Keynesian
thought.

WWWWWWW|

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

T STWeR T (T #R
SRR o1 oo SHCoA 1 |

* * X
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